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A. LýThuyết

- Ngữ âm, trọng âm.

- Các cấu trúc câu dùng trong giao tiếp: Unit 6, 7
- Ngữ pháp:


+ các thời động từ 

+ câu bị động
        + Các động từ khuyết thiếu ( Modal verbs), tập trung vào may/ might, must, mustn’t, need, needn’t và các cấu trúc tương đương, chú ý dạng modals + have PII.

+ 3 cấp so sánh, so sánh kép, các từ đứng trước các dạng so sánh.
+ Tag – question, so, too, either, neither.

-   Viết lại câu giữ nguyên nghĩa, nối câu sao cho nghĩa không đổi.
- Từ vựng theo chủ điểm đã học
ENDANGERED SPECIES

	- endanger (v): gây nguy hiểm ( endangered (adj): bị nguy hiểm

	- species (n):  loài        (  endangered species: các loài gặp nguy hiểm

	- be in danger of N/ V-ing (v) có nguy cơ

	- be threatened with N/ V-ing (v) bị đe dọa

	- extinct (adj): tuyệt chủng ( extinction (n): sự tuyệt chủng

( become extinct (v): bị tuyệt chủng 

( be in danger of extinction/ becoming extinct

( be threatened with extinction

	- on the verge of extinction: bên bờ tuyệt chủng

	- exist (v): tồn tại ( existence (n)

	- destroy (v): phá hủy  = damage/ devastate

 (  destruction (n): sự phá hủy

	- habitat (n) = natural environment: môi trường sống       

(  habitat destruction : sự phá hủy môi trường sống  

	- pollute (v) = contaminate (v) : làm ô nhiễm

( pollution (n) = contamination (n) : sự ô nhiễm  

( polluted (adj): = contaminated (adj): bị ô nhiễm

( pollutant (n): chất gây ô nhiễm

	- evolve (v) – evolution (n) : tiến hóa

	- biodiversity (n): sự đa dạng sinh học

	- conservation (n): sự bảo tồn  = protection/ preservation

	- prevent something from N/ V-ing: ngăn cản cái gì khỏi bị

protect/ save something from N/ V-ing: bảo vệ cái gì khỏi bị

	- vulnerable (adj): dễ bị tổn thương

	- make effort (v): nỗ lực. cố gắng

	- law (n): luật    ( enact  laws (v): ban hành luật

  ( introduce laws (v): đưa ra luật      (   pass laws (v): thông qua luật

	- survive (v): sống sót ( survival (n): sự sống sót

	- establish (v) = set up = found: thành lập

	- legal (adj): hợp pháp ><illegal (adj): bất hợp pháp         

( illegal hunting/ trading: săn bắn/ buôn bán  bất hợp pháp 

	- rare (adj): quý hiếm

	- be aware of (v): nhận thức

( raise awareness of (v): nâng cao nhận thức về

	- life span (n) : tuổi thọ


ARTIFICIAL INTELLIGENCE

	- life-threatening disease (n): bệnh đe dọa tính mạng

	- activate (v): kích hoạt

	- be capable of (v): có khả năng

	- in vain: vô vọng

	- incredible (adj) = unbelievable: khó tin

	- resurrect (v): làm sống lại

	- eliminate (v): loại bỏ

	- malfunction (v.n) : trục trặc

	- automated (adj) : tự động 

	- autonomy (n) : tự trị

	- intervention (n) : can thiệp

	- interaction (n): tương tác

	- medication (n): cho thuốc, đơn thuốc

	- side effect (n): phản ứng phụ

	- navigation (n): điều hướng (giao thông)

	- military (n): quân sự

	- explosive (n): chất nổ

	- weapon (n): vũ khí

	- obstacle (n): trở ngại

	- intend (v): dự định ( intention (n)

	- consequence (n): hậu quả

	- risk (n) = threat (n): hiểm họa, rủi ro

	- implant (v): cấy ghép

	- exterminate (v): hủy diệt

	- complicated = complex (adj): phức tạp

	- cyber-attack (n): tấn công mạng

	- operate (v): điều hành, hoạt động

	- defect (n); khuyết điểm

	- costly (adj): tốn kém

	- malware (n): mã độc

	- proportion (n): tỷ lệ

	- substitue (v): thay thế


B. BàiTập

I. PHONETICS:

Choose the word whose underlined part is pronounced differently.

1. A. change
B. poaching
C. chemical

D. achievement
2. A. remind
B. driven
C. derive

D. survive
3. A. malfunction
B. tasting
C. eliminate

D. endanger

4. A. panda
B. habitat
C. illegal

D. threaten

5. A. endangers
B. pollutes
C. helps

D. supports

6. A. cyber-attactk 
B. costly
C. classify

D. supply
7. A. protect 
B. commercial 
C. construction     

D. climate

8. A. illegal              
B. military        
C. decline            
  D. artificial
9. A. recommend          B. extinct    
C. exist                
  D. destruction

10. A. grass             
B. gorilla        
C. illegal                
  D. verge

Choose the word whose stress pattern is different.

11. A. science
B. weapon
C. thriller
D. survive

12. A. entertainment 
B. information  
C. difficulty 
D. understanding

13. A. habitat 
B. sociable 
C. majority 
D. wildlife

14. A. vulnerable 
B. extinction 
C. endangerment 
D. commercial

15. A. operate
B. consequence
C. exterminate
D. automated
II. VOCABULARY: Choose the best answers.

16. We have to apply effective measures to save many plant and animal species ___extinctio
   
A. from 
B. in
C. for 
D . on

17. It is found that _______ species are often concentrated in areas that are poor and densely populated, such as much of Asia and Africa.


A. disappeared 
B. increased 
C. endangered
D. reduced

18. Clearing forests for timber has resulted _______ the loss of biodiversity.


A. with 
 B. at 
C. in  
D. for

19. Hunting for meat and burning forests for soil cause _________to wildlife.


A. organization 
B. contamination 
C. protection 
D. destruction 

20. _______ is the protection of environment and natural resources.


A. Survival 
B. Commerce 
C. Conservation 
D. Extinction

21. ______ is the existence of a large number of different kinds of animals and plants which make a balanced environment.


A. Conservation
B. Extinction
C. Habitat
D. Biodiversity

22. It is ________ to hunt endangered species.


A. acceptable
B. legal
C. illegal
D. allowed

23. Many plant and animal species around the globe are now threatened ______ extinction.


A. in
B. of
C. for
D. with

24. Many species are threatened in the wild due to habitat ____ by man.


A. construction 
B. conservation
C. destruction
D. preservation

25. Governments have ________laws to protect wildlife from over-hunting


A. invented
B. enacted        
C. observed
D. watched

26. A.I robots are used to explore dangerous environments _____ explosives or contaminated by nuclear weapons.
A. contain


B. containing
C. contained

D. to contain
27. This programme is used to ___________ the new generation robots.
A. activate


B. act


C. action

D. activity

28. Many viewers like the Star Treck films which havelots of ___________ space travels.
A. believable

B. incredible

C. interesting
D. exciting

29. In order to  _________ the cost of  production , the manafacturess have used robotss for repetive work.
A. reduce


B. increase


B. intend

D. operate



30.There are a lot of online language learning programmes which are able to __with learners
A. interaction

B. interactive

C. interact

D. interactively
31. Many people think the money ____________  on protecting endangered species should be used for improving the lives of the local people.


A. is spent
B. spending
C. spent
D. which spent

32. Animals classified as CR on the ___________ are in danger of extinction.


A. conservation status scale
B. scale conservation status



C. status conservation scale
D. conservation scale status
33. Old people and children are particularly _____ to lung diseases in the cold weather.


A. available
B. critical

C. potential


D. vulnerable

34. Elephants are usually ____ for their tusks, while rhinos are killed for their horns.


A. implanted
B. poached

C. activated


D. conserved

35. This river used to have the greatest __________ of freshwater fish in the country, but now very few species are found here.


A. diverse

B. diversify

C. diversity


D. diversified
36. The new evolutionary theory has ___________ Darwin’s theory of natural selection with genetic factors to explain how evolution occurs.


   A. operated
 B. combined
C. interacted

D. intervened

37. Do you really think that artificial intelligence can _________  destruction to humans and the world?

A. cause

B. do


C. make


D. give

38. GPS systems help a lot of people to __________ on land, on the sea, and in the air. 


A. activate

B. identify

C. navigate


D. eliminate

39. Highly intelligent machines can be automated to operate without human ______.

A. interaction
B. intervention
C. medication

D. construction

40. People have made rapid advances ___________ robotic applications for domestic and personal use.


A. on


B. about

C. at



D. in

III. GRAMMAR
41. Let’s go for a long walk, ______?
    A. will we
B. don’t you
C . shall we

D. do you

42. A: “My mother loves ice-cream so much.”                B: “…”


A. So am I. 
B. I do, too.                  C. Neither do I.
D. I don’t, either.

43.  Nobody likes the play, __________?

     A. do they          
B. don’t they            
C. didn’t they           

D. did they

44. Harry was working in Bristol then, ______?
     A. wasn’t he
B. was Harry
C. was he

D. didn’t he

45. He seldom goes to the library, ______?
   A. doesn’t he
B. is he
C. isn’t he

D. does he

46. “I don’t think we should exercise late at night.” “...........................”

A. Neither do I.




B. So do I.

  C.  I think so, too.




D. I don’t neither.

47. “Do you need any help?” “...........................”

A. No, thanks. I’m too weak to lift this box.

B. No, thanks. I’m strong enough to lift this box.

C. Yes, thanks. I’m too strong to lift this box.

D. Yes, thanks. I’m weak enough to lift this box. 

48. It’s important for the figures ________ regularly.


A. to update       
B. updating      
C. to be updated 
D. being updated

49. The money  ________ soon after I receive my salary.


A. will give Peter

B. will be given Peter


C. will be given to Peter
D. will have given to Peter

50. Your diving equipment ________ regularly if you want to keep it in good condition.


A. may be cleaned 
B. can’t be cleaned 
C. can clean   D. must
 be cleaned

51. The room ________ by Tony yesterday.


A. might clean

B. might be cleaning


C. might have cleaned
D. might have been cleaned

52. “What are you doing this weekend?”


 “I haven’t decided yet. I ___________ go on a picnic with my family.”


A. may
B. should
C. must
D. need

53. It’s quite urgent. You ___________ type the reports today.


A. must
B. might
C. needn’t
D. would

54. I don’t have enough money to take the bus, so I _______ walk home.


A. should
B. mustn’t
C. have to
D. needn’t

55. _____________ you please show me the way to the park?


A. May
B. Should
C. Must
D. Could

56. I can’t find my umbrella. I _______ it in the restaurant last night.


A. must have left
B. should have left
C. must leave
D. should leave

57. I had a test this morning. I didn’t do it well. I ________ last night.

A. should study
B. must have studied     C. should have studied     D. must study

58. He ______ his boss at this time tomorrow.


A. is meeting 
B. has meet
C. was meeting 
D. will be meeting

59. What  ________  since 8 am up to now?


A. you have been doing
B. have you been doing


C. have been you doing
D. have been doing you

60. By this time next summer, you  ________ your studies and  ________ a job


A. will be completing / will find
B. had completed / would find


C. have completed / find
D. will have completed / found

61. The computer does not work. It ________ during transportation.


A. must have been damaged
B. should have been damaged


C. can be damaging

D. will damage

62. My house  ________ white.


A. used to paint 

B. are used to being painted


C. used to be painted 
D. used to painted

63. The cutting down of trees  ________  to prevent forest destruction.


A. should control
B. should be controlled    C. would control
D. controlling

64. _______ you water this plant, _______ it will grow.


A. The more/ the fastest


B. More/ faster


C. The more/ the faster


D. The most/ the fastest

65. The more fast food you eat, the ___________ you might become.

A. the less healthy 

B. the more healthy 
C. the most healthy    D. the least healthy

66. The ______ the demand for ivory products is, the _______ the number of elephants falls.

A. highest/ faster
B. higher/ faster
C. more high/ more fast
D. high/ fast

67. The ________ you study for the exam, the ____________  your scores will be.

A. harder/ better

B. better/ worse    C. less/ higher

D. more/ lower

68. We often have our newsparers _____________ to our house every morning.

A. delivered

B. to deliver

C. delivering
D. deliver
69. We will have our workers _____________ by robots in the near  future.


A. substitue

B. substitued
C. substitued
D. to substitued

70. The old woman get a gardener ________________ her garden every week.

A. look after

       B. to look after
C. looked after
D. looking after

Identify the mistakes.

71. The environment where wild animals are living is now badly destroying

      A
             B
               C
      D

72. Endangered animals must preserve and protected from extinction.

                A                                B             C

           D

73. Elephants are now in danger of extinct because a lot of people hunt them for their ivory
           A                              B                C                                  D

74. I’ll wait for you here until you will have finished your work.
             A                          B               C                         D

75. The more severe climate change becomes, the more serious wildlife is affected.

                         A                                  B                              C                    D

IV. READING. Read the paragraph and choose the best answers to fill in the blanks.

Nowadays people are more aware that wildlife all over the world is in danger. Many species of animals are threatened, and could easily become (76)________if we do not make an effort to protect them. There are many reasons for this. In some cases, animals are hunted for their fur or for other valuable parts of their bodies. Some birds (77)________as parrots are caught alive and sold as pets. For many animals and birds, the problem is that their habitat - the place where they live - is disappearing. More (78)_______is used for farms, for houses or industry, and there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow better crops, but these chemicals (79)________ the environment and harm wildlife. The most successful animal on earth - human beings - will soon be the only ones left (80)______we can solve this problem. 

76. 
A. extinct 
B. lost 
C. empty 
D. disappeared 

77. 
A. such 
B. where 
C. like 
D. or 

78. 
A. area 
B. earth 
C. land 
D. soil 

79.
A. pollute
B. protect
C. save
D. make

80. 
A. because 
B. however 
C. if 
D. unless 

Read the passage and choose the correct answer to each of the questions 

According to futurist Ray Kurzweil, human civilisation will be unavoidably transformed in the year 2045 by an event that he calls The Singularity. He suggests that exponential technological development will lead to the inevitable rise of artificial intelligence (A.I.). Such advanced technology may make humanity insignificant.

Kurzweil says that technologies are double-edged swords and envisions the possibility that an artificial intelligence might decide to put an end to humanity simply because it surpasses human intelligence. Kurzweil does have faith in mankind, however. He suggests that people are wise to accept that technological progress is unavoidable, and that such acceptance will make the process of transition easier.

Kurzweil has personal reasons to hope for the coming of The Singularity, because he wants his life to be extended by it. Kurzweil envisions that future medical advances could invent tiny computerised machines, or nanobots, which operate inside the body to enhance the immune system. In addition, he believes that future technology might be able to resurrect his deceased father.

Looking at the state of current technological advances in many fields such as medicine, navigation, and communication, Kurzweil’s visions may not be unbelievable. The critical issue, however, is whether genuine artificial intelligence can ever be truly realised. Kurzweil suggests that critics of his theories, who believe that the human brain is too complex to duplicate, are underestimating what the exponential growth in technology can eventually accomplish.

81. What is The Singularity?

A. An event giving rise to future human beings.

B. An event giving rise to future artificial intelligence.

C. An event giving rise to future alien civilisation.

82. Why could The Singularity put an end to humans?

A. Because A.I. might imitate human intelligence.

B. Because A.I. is similar to human intelligence.

C. Because A.I. will exceed human intelligence.

83. What does Kurzweil say about technologies?

A. Technologies are avoidable.

B. Technologies are safe and friendly.

C. Technologies are double-edged swords.

84. Why does Kurzweil hope for the coming of The Singularity?

A. Because it would have economic advantages.

B. Because life could be extended.

C. Because human would have virtual entertainment.

85. How does Kurzweil respond to critics of his theories?

A. He thinks that they do not evaluate correctly the rapid growth of technology.

B .He thinks that the realisation of genuine artificial intelligence is a challenge.

C. He thinks that future events cannot be predicted with our current means.

V. Choose the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

86. Humans depend on species diversity to provide food, clean air and water and fertile soil for agriculture.

A. destruction
B. contamination
  C. fertilizer

D. variety

87. Hunting for meat and burning forests for soil cause destruction to wildlife.


A. organization 
B. contamination 
C. protection 
D. damage

88 It is found that endangered species are often concentrated in areas that are poor and densely populated, such as much of Asia and Africa.


A. disappeared 
B. increased 
C. threatened 
D. reduced

89 Advanced technologies may take humanity insignificant both in life and work.


A. Radical
B. Sophisticated
C. Unconventional
D. Future

90. Internet search engines can help to predict the weather as well as traffic jams in a city.


A. Expect
B. Announce
C. Forecast
D. Reveal 

VI. Choose the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

91. The dog is starving. It hasn’t got anything to eat for nearly a week.

A. quite happy
B. very hungry
C. rather full

D. extremely thirsty

92. Fruit and vegetables grew in abundance on the island. The islander even exported the surplus.

A. large quantity
B. bad quality
C. small quantity
D. good quality

93. The US troops are using much more sophisticated weapons in the Far East.

A. expensive



B.  complicated


C. simple and easy to use


D. difficult to operate

94. Professor Stephen Hawking thinks the primitive forms of A.I which have been developed so far have already proved very useful.


A. basic
B. modern
C. recent
D. original

95. In order to protect endangered species, it is important that all people join in.

A. take part
B. leave
C. enjoy
D. participate

VII. Choose one sentence that best rewrites the sentence given:

96.  It is said that many people are homeless after the floods.


A. Many people say to be homeless after the floods.


B. Many people said are homeless after the floods.


C. Many people are said to be homeless after the floods.


D. Many people are said to have been homeless after the floods.

97. Somebody might have stolen your car.

A. Somebody might have been stolen your car.    
     B. Your car might be stolen.

C. Your car might have been stolen by somebody.       D. Your car might have been stolen.

98. Do I have to read the whole book?

A. Do it necessary for me to read the whole book?
B. Is it necessary for me  read the whole book?

C. Is it necessary for me to read the whole book?  
D. Is it necessary  to read the whole book?

99. It’s possible that she didn’t hear what I said.

A. She might have heard what I said.                   B. She mightn’t have heard what I said.

C. She mightn’t have been heard what I said.       D. She might have been heard what I said.

100. This is the most interesting novel I’ve ever read.


A. Knowing that the novel will be interesting, I read it.


B. If only I had known the novel was so interesting, I’d have read it earlier.


C. I don’t think it is the most interesting novel.


D. I have never read a more interesting novel than this.

101. It’s compulsory for the students to wear uniforms when going to school.

A. Students must wear uniforms when going to school.

B. Students must have worn uniforms when going to school.

C. Students mustn’t wear uniforms when going to school.

D. Students needn’t wear uniforms when going to school.

102. They understand more than we do.

A. We don’t understand as much as they do.
B. We don’t understand anything at all.

C. They understand everything inside out.

D. They are very intelligent.

VIII. Choose ONE sentence which is combined from the pairs of sentences.

103.  We live far from our house. We miss it very much.

A. The more farther from our house we live, the more we miss it.

B. The farther from our house we live, the much we miss it.

C. The far from our house we live, the much more we miss it.

D. The farther from our house we live, the more we miss it.

104. Small pox is a dangerous disease. Malaria is a dangerous disease. 
A. Small pox is a dangerous disease and malaria is too.

B. Malaria is a dangerous disease, but  samll pox is not.

C. Neither small pox nor malaria is a dangerous disease.

D. Either malaria nor small pox is a dangerous disease.

105. Mary baked a caked. She also made some chocolate biscuits.
A. Mary made some chocolate biscuits instead of a cake.

B. Mary made some chocolate biscuits and a cake.

C. Mary made a caked but she didn't make any chocolate biscuiits.
D. Mary didn't make  a cake or any chocolate biscuiits.
